How to Assemble:

The Dresser System (Two Unit)



Components 2x Units 1x Top

2x Base Aprons ‘ 1x Base Leg Set

14x Bolts 8x Wing Nuts

* *

Pro Tip: If you're considering a return, save your packaging!

Assembly Instructions The Dresser System



Components 2x U-Brackets 1x Hex Tool

7
7

1x Anti-Tip Kit

—

&
8

(

(
|

(

Q@
Q@

(8
@

Pro Tip: If you're considering a return, save your packaging!

Assembly Instructions The Dresser System



(step 1)

Assembling the Base




<:Step::L€>

Begin by placing the Base Aprons
and Leg Sets on a soft surface.

Guide the threaded studs on the
Base Aprons through the holes in
the end of each Leg Set.

Use the 8 provided Base Wing
Nuts to secure the Base Aprons to
the Leg Sets, making sure to fully
tighten all Bolts.

02.

Assembly Instructions The Dresser System




<:Step::1€>

Once assembled, place the Base on
a level surface near its final location.

Assembly Instructions The Dresser System



(Sten 2)

Aading the Units




<EStep::2é:)

With a partner, begin by placing
the first Module onto the side of
your choice.

Both blocks on the underside of the
Module should fit within the frame

of the Base.

Assembly Instructions The Dresser System




<:Step::H{>

Ensure that the blocks located
on the underside of the Module
are aligned squarely between
the Base Aprons.

Slide the Module back and to
the left until it stops.

01.

=)

A

=)

/

=)

=)

Assembly Instructions The Dresser System



<EStep::2é:)

With the first Module now in place,

insert 4 Bolts through the openings
In the Base Aprons as shown.

Loosely tighten each by hand.

(2)

Assembly Instructions The Dresser System




<:Step::ui>

Repeat Steps 2A-C to install
the second Unit.

After both Units are in place, use
the Hex Tool to tighten all Bolts.

Assembly Instructions The Dresser System




<:$tepn 2%:)

Once the Units are in place and
aligned, slide 2 U-Brackets into the
slots at top of each Unit.

Push both Brackets down firmly to
secure the Units to one another.

Assembly Instructions The Dresser System



<:Step::263)

Place the Top onto the The Dresser.

Ensure the angled metal cleat on its
underside fits between the opening
at top of the Units.

Assembly Instructions The Dresser System



<EStep::2é:)

With the angled metal cleat between
the opening in the top of the Unit,
push the Top back.

The cleat should lock into place with

corresponding cleat on top of the Unit.

02.

03.

Assembly Instructions The Dresser System



<:Step::ui>

Ensure all the components are square
and aligned.

Then, insert Bolts through the marked
holes in the underside of the Units’
tops and into corresponding holes In
the underside of the Top.

Tighten with the Hex Tool.

NOTE: For Units with drawers, open top drawer to insert Bolts.

Assembly Instructions The Dresser System



<:Step::ZE>

Install the Anti-Tip Kit. : //\

Use a set of holes closest to the
center on the back of the unit to
attach the Anti-Tip Kit.

T
-
N

Follow the instructions included with
the Anti-Tip Kit to install. Always

Install and use the Anti-Tip Kit. \\ / |

Once Unit i1s in place and secured
to wall follow next steps to attach
drawer faces or doors.

=

WARNING: Serious or fatal crushing injuries can occur from furniture tip-over. Always install tip-over restraint provided to help reduce risk of tip-over.

Assembly Instructions The Dresser System



(sten 3)

Finishing the Units




FLOYD

2 Large Drawer Unit 2x Drawer Faces 8x Screws
(Drawer UhitS) @ W W @ @
Components § \\
2 Medium Drawer Unit 3x Drawer Faces 12x Screws
=Ny S
SN 7
§§ F F P
2 Mixed Drawer Unit 3x Drawer Faces 12x Screws
Ny o F P
§§\ FF
\ o F o

NOTE: To assemble these components, you'll need a #2 Phillips-Head Screwdriver (not provided).

Assembly Instructions The Dresser System



FLOYD

(Drawer Unit s)

Start by opening the top Drawer.

Align Drawer Face and attach it
to the Module from the inside of
the Drawer, using 4 of the provide
Screws and a #2 Phillips-Head

Screwdriver.

Once all 4 Screws are In place,
tighten each. Then, one at a time,
repeat these steps with the
remaining Drawers.

NOTE: For this step, you'll need a #2 Phillips-Head Screwdriver (not provided).

Assembly Instructions The Dresser System



(Shelf Units)

Components

NOTE: To assemble the 2 Door Unit, you'll need a :

Open Shelf Unit

2 Door Unit

#2 Phillips-Head Screwdriver (not provided).

1x Shelf 4x Shelf Pins
Lo Lol
1x Shelf 4x Shelf Pins
S
2x Doors 8X Screws
oy ly s o
ol iy 'y o

Assembly Instructions

The Dresser System



(Open Shelf Un its)

Align the 4 Shelf Pins to the 01.
desired position.

Place the Shelf atop the Shelf Pins.

Assembly Instructions The Dresser System



(2 Door Un it)

Open the hinges and align their
plates to the appropriate holes on
the inside of the case — making sure
that the bullnosed edge of the door
faces the top of the Unit and that
the bottom of the Door is aligned to
the base of the Unit.

Screw both hinge plates to the

side of the case with the 4 provided
Screws and tighten using a

#2 Phillips-Head Screwdriver.

Repeat on opposite door to finish.

FLOYD

NOTE: For this step, you'll need a #2 Phillips-Head Screwdriver (not provided).

Align bullnose

edge to Unit top.

Assembly Instructions The Dresser System




You're done!

With a partner, adjust your Dresser
into its final positon (if necessary),
ensure all screws and bolts are firmly
in place, and enjoy your new furniture.

Assembly Instructions The Dresser System



WARNING A

READ ALL INSTRUCTIONS BEFORE ASSEMBLY &
USE. ADULT ASSEMBLY REQUIRED. KEEP SMALL
PARTS AND PACKAGING AWAY FROM CHILDREN.

NOTES ON USE:

Keep children and others safe by following these
simple rules:

Do not allow any child to play on furniture

Do not allow climbing on any piece of furniture
Do not allow hanging from any piece of furniture

Assembly:

Use caution when assembling. Do not change the
specifications or modify this product. Incorrect
assembly can cause product to fail and cause
damage or personal injury. Double check that

product is assembled correctly and all components

are properly tightened before use. Periodically
re-tighten hardware.

Usage:
Remove all packaging before first use.
Only meant for indoor use.

Cleaning/Care:
Clean The Dresser with a dry or damp lint
free cloth.

WARNING A

Children have died from furniture tipover.
Serious or fatal crushing injuries can occur
from furniture tip-over.

To reduce the risk of furniture tip-over:

ALWAYS install tip-over restraint provided.

NEVER put a TV on this product.

NEVER allow children to climb or hang on drawers,
doors, or shelves.

NEVER open more than one drawer at a time.
Place heaviest objects in the lower drawers.

Use of tip-over restraints may only reduce, but not

eliminate, the risk of tip-over.
~____F

Assembly Instructions The Dresser System







